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JIE 5z K A ouT IN GR HDCP NET e
1215 HE R= 42 44 86 8.0 78.0
#E IR FE 44 44 88 10.0 78.0
3 AR RF 47 49 96 18.0 78.0
4 i Ea 46 47 93 14.0 79.0
5 fERK EERA 48 53 101 21.0 80.0
6 5 LTS 42 44 86 5.0 81.0
7 BExk Ef 42 48 90 9.0 81.0
8 T REF 47 49 96 14.0 82.0
9 —i5 Jthl 40 43 83 0.0 83.0
10 ¥rH BZE 45 51 96 13.0 83.0
11 mERIN B2 47 47 94 10.0 84.0
12 mE =& 47 50 97 13.0 84.0
13 Al —F 44 47 91 6.0 85.0
14 EH ORE 44 48 92 1.0 85.0
15 kRO F 49 46 95 10.0 85.0 |ADbNvY
16 BRR XE 47 48 95 10.0 85.0
17 + = 44 50 94 1.0 87.0
18 R 49 48 97 10.0 87.0 Ao bN\vy
19 nE EE 46 51 97 10.0 87.0
20 HE E= 46 52 98 11.0 87.0
21 TH @I 58 65 123 36.0 87.0
22 WA {EE 11 51 92 4.0 88.0
23 nT Bz 48 50 98 10.0 88.0 |ADbN\vY
24 FH EZ 46 52 98 10.0 88.0
25 A H= 55 48 103 15.0 88.0
26 Frith 8= 90 47 97 1.0 90.0
217 Jl = 48 50 98 8.0 90.0
28 BRlR ER 49 o4 103 12.0 91.0
29 ) B 56 52 108 17.0 91.0
30 TH #HE 43 54 97 5.0 92.0
31 Frith F5EA 49 o1 100 5.0 95.0
32 MHF BX 93 61 114 19.0 95.0
33 Ai [EHK 93 61 114 15.0 99.0
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B =K Z=F 40 42 82 1.0 81.0
#E RE BE 4 43 | 84 2.0 [82.0
3 w B 42 | 45 | 8] |50 82.0
4 e #lz | 41 42 | 83 0.0 [83.0
5 JesF @& 48 50 | 98 13.0 85.0
6 =5 ®K 47 50 97 [11.0 86.0
1 RE HE 43 | 51 94 7.0 87.0
8 MME KAXBE3 48 48 |96 6.0 [90.0
9 FH —B3 50 50 |[100 5.0 95.0
10 ®H ¥¥X 5 |53 108 12.0 [96.0
s =58 | 60 | 57 | 117 =T
BH —E | 51 48 | 99 r—Jv
ISF SR NR
KEH AR | 41 44 | 85 7 Xk
KB #H# 47 45 | 92 7 Rk
JRH X | 51 58 | 109 7 Rk
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